EARAROBEEIERT — 2 N— IBISH —F

20165128198 (A) 8mEZKIR6H

m C1=# ¥R ECEE R
[AE4£] 1% :160,000  ~ 23#%:32,000 ™  33%&:16,000 M . 43&:12,000 57 :4,000 §
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. TIPS 41, —5-2- . — 2ILE— (KR)
il7lg| Frv—EvH- S0 [ IR [ gt
L:hTrAVLRZ BNSEAIETIL =RBAKS
N N SiAs 49 1-1- . = fEBERE] (KIR)
o1l | ETLAO-F1 > 8 g 1(462)3 1-1-1-2 | 39.7 3 ézs) i
RL:d—ILRA/O— B4 X74—> Fif Fk
R $AAEE . 4D — HHEE= ()
o ST B4 e 1.(422>.6 3-4-2-3 | 39.8 4 (4_655) e
L:Zw—hF—oa B:TUVEHT—X 75 Niis
- P B4 | BIXIE 1:42.6 4-2-4-4 | 39.6| — 7 471 | BRAE (KR)
410 -7 R—4— 54.0 () 1) fzggmgg ’
RiZFAT—IE BSLL R—IL2 TS
i 4 3 | HEElE— 1:43.1 6-6-4-5 |39.9| — 2 47 | #F=— (KR)
sl 4| 7)—0O 54,0 3) o | 7w
Z:arrFaqdy b BivAIRIXMLY EvilLy RT7—L
Fe # 4 | BERREE 1:43.3 7-7-6-6 | 39.9| — 10 | 483 |#HEF (KiR)
6 WA 2 Frxoqa 56.0 (1 1/4) *+3) SRR
L:7H4F2A>NK B:I—Z+v> e amicse]
= — Ho4 | AR 1:43.7 8-9-9-7 |40.0| — 9 453 | tE< KB (GKR)
71811 FLTXv=F 56.0 (21/2) (46) Y
R:F4—T2h4 B4 bI-TL7 Bk
“ # 8 | BEREE 1:43.9 11-10-11-9 | 40.0 | — 6 488 | =EHE®E (KR)
gl7|o | T¥FVY W0 (1172) #3) | U® RN
R:TANES Y2 BEY MDA RS
;= = S 4 3 | BAE 1:44.2 10-10-10-10| 40.1 | — 11 476 | HERE= (ERHE)
9 71772714Fa—FR 54.0 @) o | @ 77 r8
R:7—UT74—Z B:AFIAFI VDAY ¢ ]
— 9 LA EA 144, —8-8~ . — 1EEE— (KR
108N 3 7’7/7J<)l/ fos | L= 1(74?:5 8-8-8-8 [ 40.6 5 {‘_557) = o
R:77RVIT7 B:T7S5vH4T717U— FIXTT— L
N ey . _2_7_ — 1E42ARBRI (AKR)
15|55 | 21178 -U7 o4 560 (zfﬁ) o 482 s (5:)14) RIME— ’
x4 a— B:Ly FO¥UF aE  JE—
® I —F—@EBIERL
13—7+— 1,5,6,10,8,4,2,(3,11),7,9
23a—7— |1,10,5,6,8,4,2,3,11,(7,9)
Jol=5r= 1,(6,8),(4,10),2,5,3,11,7,9
40—+ — 8,1,6,10,4,2,11,3,9,7,5
[ N3
BB 8 1004 714K 1-8 310 % E 1-7 610M 3EHE 1-6-8 1,580H
8 B 8 1004 6-8 330M B & 1-8 520M K31 8-1-6 2,880
1 1704 1-6 1,060M B H 8-1 470
6 200M

ABTICOVTRDTEEERROODE, JHB LS,




